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1
NRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqjNRrhlx<+ ek/;fed f’k{kk eaMy] jk;iqj

gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09gk;j lsds.Mjh lfVZfQdsV ijh{kk o"kZ 2008&09
ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=ekWMy iz’u i=  (Model Question)

d{kk%&d{kk%&d{kk%&d{kk%& 12 oha12 oha12 oha12 oha Class 12th

fo"k;%&fo"k;%&fo"k;%&fo"k;%& HkwxksyHkwxksyHkwxksyHkwxksy Subject:-Geograohy
le;%&le;%&le;%&le;%& 3 ?k.Vs3 ?k.Vs3 ?k.Vs3 ?k.Vs Time:- 3 Hours
iw.kkZ ad%&iw.kkZ ad%&iw.kkZ ad%&iw.kkZ ad%& 7 57 57 57 5 Maximum Marks :-  75

funsZ’k%&1]funsZ’k%&1]funsZ’k%&1]funsZ’k%&1] iz’u Øekad 1 ls 6 rd ds mRrj  vf/kdre 30 ’kCnksa es nhft, A izR;sdiz’u Øekad 1 ls 6 rd ds mRrj  vf/kdre 30 ’kCnksa es nhft, A izR;sdiz’u Øekad 1 ls 6 rd ds mRrj  vf/kdre 30 ’kCnksa es nhft, A izR;sdiz’u Øekad 1 ls 6 rd ds mRrj  vf/kdre 30 ’kCnksa es nhft, A izR;sd
iz’u ds fy, 2 vad vkacfVr gS Aiz’u ds fy, 2 vad vkacfVr gS Aiz’u ds fy, 2 vad vkacfVr gS Aiz’u ds fy, 2 vad vkacfVr gS A

 2] 2] 2] 2] iz’u Øekad 7 ls 12 rd ds mRrj  vf/kdre 50 ’kCnksa esa nhft, Aiz’u Øekad 7 ls 12 rd ds mRrj  vf/kdre 50 ’kCnksa esa nhft, Aiz’u Øekad 7 ls 12 rd ds mRrj  vf/kdre 50 ’kCnksa esa nhft, Aiz’u Øekad 7 ls 12 rd ds mRrj  vf/kdre 50 ’kCnksa esa nhft, A
izR;sd iz’u ds fy, 3 vad vkacfVr gS AizR;sd iz’u ds fy, 3 vad vkacfVr gS AizR;sd iz’u ds fy, 3 vad vkacfVr gS AizR;sd iz’u ds fy, 3 vad vkacfVr gS A

 3] 3] 3] 3] iz’u Øekad 13 ls 17 rd ds mRrj  vf/kdre 75 ’kCnksa es nhft, Aiz’u Øekad 13 ls 17 rd ds mRrj  vf/kdre 75 ’kCnksa es nhft, Aiz’u Øekad 13 ls 17 rd ds mRrj  vf/kdre 75 ’kCnksa es nhft, Aiz’u Øekad 13 ls 17 rd ds mRrj  vf/kdre 75 ’kCnksa es nhft, A
izR;sd iz’u ds fy, 4 vad vkacfVr gS AizR;sd iz’u ds fy, 4 vad vkacfVr gS AizR;sd iz’u ds fy, 4 vad vkacfVr gS AizR;sd iz’u ds fy, 4 vad vkacfVr gS A

 4] 4] 4] 4] iz’u Øekad 18 ls 21 rd ds mRrj  vf/kdre 120 ’kCnksa es nhft, Aiz’u Øekad 18 ls 21 rd ds mRrj  vf/kdre 120 ’kCnksa es nhft, Aiz’u Øekad 18 ls 21 rd ds mRrj  vf/kdre 120 ’kCnksa es nhft, Aiz’u Øekad 18 ls 21 rd ds mRrj  vf/kdre 120 ’kCnksa es nhft, A
izR;sd iz’u ds fy, 5 vad vkacfVr gS AizR;sd iz’u ds fy, 5 vad vkacfVr gS AizR;sd iz’u ds fy, 5 vad vkacfVr gS AizR;sd iz’u ds fy, 5 vad vkacfVr gS A

 5] 5] 5] 5] ekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS Aekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS Aekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS Aekufp= vadu esa iz'u Ø- 22 ds fy, 5 vad fu/kkZfjr gS A
 6] 6] 6] 6] vko';drkuqlkj js[kkfp= cukb, Avko';drkuqlkj js[kkfp= cukb, Avko';drkuqlkj js[kkfp= cukb, Avko';drkuqlkj js[kkfp= cukb, A

Instruction:-
1. Anwser the question No. 1 to 6 in maximum words limit 30 words.

Each question carries 2 marks.
2222. Anwser the question No. 7 to 12 in maximum words limit 50 words.

Each question carries 3 marks.
3. Anwser the question No. 13 to 17 in maximum words limit 75 words.

Each question carries 4 marks.
4. Anwser the question No. 18 to 21 in maximum words limit 120 words.

Each question carries 5 marks.
5. Map showing question no.22 in 5 marks.
6. Draw the diagram/ sketches wherever necessary.

iz’u 1&iz’u 1&iz’u 1&iz’u 1& ekuo Hkwxksy dh dksbZ ,d ifjHkk"kk fyf[k, \ekuo Hkwxksy dh dksbZ ,d ifjHkk"kk fyf[k, \ekuo Hkwxksy dh dksbZ ,d ifjHkk"kk fyf[k, \ekuo Hkwxksy dh dksbZ ,d ifjHkk"kk fyf[k, \
Write any one definition of human geography.

iz’u 2&iz’u 2&iz’u 2&iz’u 2&  ekuo Hkwxksy ds fo"k; {ks= ls lacaf/kr rRoksa ds uke crkb, A ekuo Hkwxksy ds fo"k; {ks= ls lacaf/kr rRoksa ds uke crkb, A ekuo Hkwxksy ds fo"k; {ks= ls lacaf/kr rRoksa ds uke crkb, A ekuo Hkwxksy ds fo"k; {ks= ls lacaf/kr rRoksa ds uke crkb, A
Name the elements related to the scope of human geography.
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iz’u 3&iz’u 3&iz’u 3&iz’u 3& tula[;k dh n` f"V ls fo'o es a Hkkjr ,o a phu dk LFkku fu/kk Z fjrtula[;k dh n` f"V ls fo'o es a Hkkjr ,o a phu dk LFkku fu/kk Z fjrtula[;k dh n` f"V ls fo'o es a Hkkjr ,o a phu dk LFkku fu/kk Z fjrtula[;k dh n` f"V ls fo'o es a Hkkjr ,o a phu dk LFkku fu/kk Z fjr
dhft, Adhft, Adhft, Adhft, A
Write the position of India and China in the world according to
population?

iz’u 4&iz’u 4&iz’u 4&iz’u 4& xzkeh.k vf/koklksa dh dksbZ 2 fo'ks"krk,¡ fyf[k, Axzkeh.k vf/koklksa dh dksbZ 2 fo'ks"krk,¡ fyf[k, Axzkeh.k vf/koklksa dh dksbZ 2 fo'ks"krk,¡ fyf[k, Axzkeh.k vf/koklksa dh dksbZ 2 fo'ks"krk,¡ fyf[k, A
Write any two characteristics of settlements in the rural settlements.

iz’u 5&iz’u 5&iz’u 5&iz’u 5& vjh; izfr:i dk fp= cukb, Avjh; izfr:i dk fp= cukb, Avjh; izfr:i dk fp= cukb, Avjh; izfr:i dk fp= cukb, A
Draw an “Radial Pattern”.

iz’u 6&iz’u 6&iz’u 6&iz’u 6& ;krk;kr ds izeq[k lk/ku dkSu&dkSUk ls gSa \;krk;kr ds izeq[k lk/ku dkSu&dkSUk ls gSa \;krk;kr ds izeq[k lk/ku dkSu&dkSUk ls gSa \;krk;kr ds izeq[k lk/ku dkSu&dkSUk ls gSa \
Write the names of the major factor of transportation ?

iz’u 7&iz’u 7&iz’u 7&iz’u 7& fyaxkuqikr dk egRo crkb, Afyaxkuqikr dk egRo crkb, Afyaxkuqikr dk egRo crkb, Afyaxkuqikr dk egRo crkb, A
Write importance of sex-ratio..

iz’u 8&iz’u 8&iz’u 8&iz’u 8& thodksiktZu Ñf"k ,oa O;kolkf;d Ñf"k esa varj Li"V dhft, AthodksiktZu Ñf"k ,oa O;kolkf;d Ñf"k esa varj Li"V dhft, AthodksiktZu Ñf"k ,oa O;kolkf;d Ñf"k esa varj Li"V dhft, AthodksiktZu Ñf"k ,oa O;kolkf;d Ñf"k esa varj Li"V dhft, A
Compare between livelihood agriculture and commercial agriculture.

iz’u 9&iz’u 9&iz’u 9&iz’u 9& fldqM+rs gq, fo'o dh vo/kkj.kk dks le>kb, AfldqM+rs gq, fo'o dh vo/kkj.kk dks le>kb, AfldqM+rs gq, fo'o dh vo/kkj.kk dks le>kb, AfldqM+rs gq, fo'o dh vo/kkj.kk dks le>kb, A
Explain the concept of sinking world.

iz’u 10&iz’u 10&iz’u 10&iz’u 10& ifjogu ds lk/kuksa dks fdlh ns'k ds fodkl ds fy, es:n.M D;ksa dgkifjogu ds lk/kuksa dks fdlh ns'k ds fodkl ds fy, es:n.M D;ksa dgkifjogu ds lk/kuksa dks fdlh ns'k ds fodkl ds fy, es:n.M D;ksa dgkifjogu ds lk/kuksa dks fdlh ns'k ds fodkl ds fy, es:n.M D;ksa dgk
tkrk gS \tkrk gS \tkrk gS \tkrk gS \
Why is means of transport called the backbone in the development of a
country?

iz’u 11&iz’u 11&iz’u 11&iz’u 11& Hkkjr esa fyax vuqikr esa gzkl gksus ds D;k dkj.k gS \ o.kZu dhft, AHkkjr esa fyax vuqikr esa gzkl gksus ds D;k dkj.k gS \ o.kZu dhft, AHkkjr esa fyax vuqikr esa gzkl gksus ds D;k dkj.k gS \ o.kZu dhft, AHkkjr esa fyax vuqikr esa gzkl gksus ds D;k dkj.k gS \ o.kZu dhft, A
Describe the reasons for the decreasing sex-ratio in India.

iz’u 12&iz’u 12&iz’u 12&iz’u 12& izkÑfrd lalk/kuksa dk laj{k.k D;ksa vko';d gS \izkÑfrd lalk/kuksa dk laj{k.k D;ksa vko';d gS \izkÑfrd lalk/kuksa dk laj{k.k D;ksa vko';d gS \izkÑfrd lalk/kuksa dk laj{k.k D;ksa vko';d gS \
Why is conservation of natural reources necessary ?

iz’u 13&iz’u 13&iz’u 13&iz’u 13& Hkkjr esa tula[;k o`f) nj ds fuEukafdr vkadM+ks dks lk/kkj.k LrEHk vkjs[kHkkjr esa tula[;k o`f) nj ds fuEukafdr vkadM+ks dks lk/kkj.k LrEHk vkjs[kHkkjr esa tula[;k o`f) nj ds fuEukafdr vkadM+ks dks lk/kkj.k LrEHk vkjs[kHkkjr esa tula[;k o`f) nj ds fuEukafdr vkadM+ks dks lk/kkj.k LrEHk vkjs[k
}kjk iznf'kZr dhft, rFkk tula[;k o`f) dk i;kZoj.k ij iM+us okys fdUgh}kjk iznf'kZr dhft, rFkk tula[;k o`f) dk i;kZoj.k ij iM+us okys fdUgh}kjk iznf'kZr dhft, rFkk tula[;k o`f) dk i;kZoj.k ij iM+us okys fdUgh}kjk iznf'kZr dhft, rFkk tula[;k o`f) dk i;kZoj.k ij iM+us okys fdUgh
nks nq"izHkkoksa dks fcUnqokj fyf[k, %&nks nq"izHkkoksa dks fcUnqokj fyf[k, %&nks nq"izHkkoksa dks fcUnqokj fyf[k, %&nks nq"izHkkoksa dks fcUnqokj fyf[k, %&
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Hkkjr esa tula[;k o`f)Hkkjr esa tula[;k o`f)Hkkjr esa tula[;k o`f)Hkkjr esa tula[;k o`f)

o"k Zo"k Zo"k Zo"k Z 1961196119611961 1971197119711971 1981198119811981 1991199119911991 2001200120012001

tula[;ktula[;ktula[;ktula[;k 43-9243-9243-9243-92 54-8154-8154-8154-81 68-3368-3368-3368-33 84-3984-3984-3984-39 102-70102-70102-70102-70
¼djksM+k s esa¼djksM+k s esa¼djksM+k s esa¼djksM+k s esa

Show the following data of rate of growth in population in india with the
help of a bar-diagram and describe two evil-effects of growing popula-
tion on the environment.

POPULATION-GROWTH IN INDIA

Year 1961 1971 1981 1991 2001

Population 43.92 54.81 68.33 84.39            102.70
(in crores)

iz’u 14iz’u 14iz’u 14iz’u 14 ^^Hkkjr esa fofo/krk esa ,drk gSA** bl dFku dks rdZ lfgr le>kb, \^^Hkkjr esa fofo/krk esa ,drk gSA** bl dFku dks rdZ lfgr le>kb, \^^Hkkjr esa fofo/krk esa ,drk gSA** bl dFku dks rdZ lfgr le>kb, \^^Hkkjr esa fofo/krk esa ,drk gSA** bl dFku dks rdZ lfgr le>kb, \
There is unity on diversity in India. Explain with ourguments.

iz’u 15&iz’u 15&iz’u 15&iz’u 15& Hkkjr dh leqnzh rV js[kk yEch gS] fQj Hkh eRL; O;kikj vf/kd mUur ughaHkkjr dh leqnzh rV js[kk yEch gS] fQj Hkh eRL; O;kikj vf/kd mUur ughaHkkjr dh leqnzh rV js[kk yEch gS] fQj Hkh eRL; O;kikj vf/kd mUur ughaHkkjr dh leqnzh rV js[kk yEch gS] fQj Hkh eRL; O;kikj vf/kd mUur ugha
gS] D;ksa \gS] D;ksa \gS] D;ksa \gS] D;ksa \
Why the fishing trade is backward in India ? Where the costal line in
inlarge ?

iz’u 16&iz’u 16&iz’u 16&iz’u 16& Hkkjr esa izeq[k ^uohu Ñf"k izo`fRr;ksa* ds laca/k esa viuk fopkj O;Dr dhft,Hkkjr esa izeq[k ^uohu Ñf"k izo`fRr;ksa* ds laca/k esa viuk fopkj O;Dr dhft,Hkkjr esa izeq[k ^uohu Ñf"k izo`fRr;ksa* ds laca/k esa viuk fopkj O;Dr dhft,Hkkjr esa izeq[k ^uohu Ñf"k izo`fRr;ksa* ds laca/k esa viuk fopkj O;Dr dhft,
\\\\
Express your views about the main new agriculture techonology in India.

vFkok vFkok vFkok vFkok (OR)

gfjr ØkfUr fdls dgrs gS \ Hkkjrh; Ñf"k esa bldk egRo crkb, Agfjr ØkfUr fdls dgrs gS \ Hkkjrh; Ñf"k esa bldk egRo crkb, Agfjr ØkfUr fdls dgrs gS \ Hkkjrh; Ñf"k esa bldk egRo crkb, Agfjr ØkfUr fdls dgrs gS \ Hkkjrh; Ñf"k esa bldk egRo crkb, A
What is green revolution ? Explain the  importance in Indian agriculture.

iz’u 17&iz’u 17&iz’u 17&iz’u 17& NRrhlx<+ dk fuEukafdr m|ksxksa ds laca/k esa laf{kIr fVIi.kh fyf[k, ANRrhlx<+ dk fuEukafdr m|ksxksa ds laca/k esa laf{kIr fVIi.kh fyf[k, ANRrhlx<+ dk fuEukafdr m|ksxksa ds laca/k esa laf{kIr fVIi.kh fyf[k, ANRrhlx<+ dk fuEukafdr m|ksxksa ds laca/k esa laf{kIr fVIi.kh fyf[k, A
¼1½¼1½¼1½¼1½ chM+h m|ksxchM+h m|ksxchM+h m|ksxchM+h m|ksx ¼2½ twV m|ksx\¼2½ twV m|ksx\¼2½ twV m|ksx\¼2½ twV m|ksx\

Write in short note about the following Industries in chhattisgarh-
I. Bidi Industry II. Jute Industry
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vFkok vFkok vFkok vFkok (OR)

NRrhlx<+ dh fuEukafdr ufn;ksa dk laf{kIr o.kZu dhft, %&NRrhlx<+ dh fuEukafdr ufn;ksa dk laf{kIr o.kZu dhft, %&NRrhlx<+ dh fuEukafdr ufn;ksa dk laf{kIr o.kZu dhft, %&NRrhlx<+ dh fuEukafdr ufn;ksa dk laf{kIr o.kZu dhft, %&
¼1½¼1½¼1½¼1½ egkunhegkunhegkunhegkunh ¼2½¼2 ½¼2 ½¼2 ½  bUnzkorh unh A bUnzkorh unh A bUnzkorh unh A bUnzkorh unh A

Describe in short about the following rivers of chhattisgarh-
I. Mahanadi II. Indravati river

iz’u 18&iz’u 18&iz’u 18&iz’u 18& fo'o esa m|ksx tU; leL;kvksa dk mYys[k dj muds lek/kku ds mik;fo'o esa m|ksx tU; leL;kvksa dk mYys[k dj muds lek/kku ds mik;fo'o esa m|ksx tU; leL;kvksa dk mYys[k dj muds lek/kku ds mik;fo'o esa m|ksx tU; leL;kvksa dk mYys[k dj muds lek/kku ds mik;
crkb, Acrkb, Acrkb, Acrkb, A
Write the problems how to solve the problems of Industries in the world.

iz’u 19&iz’u 19&iz’u 19&iz’u 19& ou lalk/ku laj{k.k D;ksa vko';d gS \ ou laj{k.k ds mik;ksa dks foLrkjou lalk/ku laj{k.k D;ksa vko';d gS \ ou laj{k.k ds mik;ksa dks foLrkjou lalk/ku laj{k.k D;ksa vko';d gS \ ou laj{k.k ds mik;ksa dks foLrkjou lalk/ku laj{k.k D;ksa vko';d gS \ ou laj{k.k ds mik;ksa dks foLrkj
iwoZd le>kb, AiwoZd le>kb, AiwoZd le>kb, AiwoZd le>kb, A
Why is forest conservation necessary ? Explain in detail the measures
taken for the forest conservation.

iz’u 20&iz’u 20&iz’u 20&iz’u 20&  Hkkjr esa xUus dh mit ds fy, vko';d HkkSxksfyd n'kkvksa dk o.kZu Hkkjr esa xUus dh mit ds fy, vko';d HkkSxksfyd n'kkvksa dk o.kZu Hkkjr esa xUus dh mit ds fy, vko';d HkkSxksfyd n'kkvksa dk o.kZu Hkkjr esa xUus dh mit ds fy, vko';d HkkSxksfyd n'kkvksa dk o.kZu
dhft, A Hkkjr ds nks izeq[k xUuk mRiknd jkT; dk uke fyf[k, Adhft, A Hkkjr ds nks izeq[k xUuk mRiknd jkT; dk uke fyf[k, Adhft, A Hkkjr ds nks izeq[k xUuk mRiknd jkT; dk uke fyf[k, Adhft, A Hkkjr ds nks izeq[k xUuk mRiknd jkT; dk uke fyf[k, A
Describe the geographical conditions for the growth of sugarcane in India.
Write the names of two major states in India for the production of
sugarcane

vFkok vFkok vFkok vFkok (OR)

Hkkjr esa pk; mRiknu ds {ks=ksa dk o.kZu djrs gq, Hkkjrh; vFkZO;oLFkk esaHkkjr esa pk; mRiknu ds {ks=ksa dk o.kZu djrs gq, Hkkjrh; vFkZO;oLFkk esaHkkjr esa pk; mRiknu ds {ks=ksa dk o.kZu djrs gq, Hkkjrh; vFkZO;oLFkk esaHkkjr esa pk; mRiknu ds {ks=ksa dk o.kZu djrs gq, Hkkjrh; vFkZO;oLFkk esa
blds egRo dks le>kb, Ablds egRo dks le>kb, Ablds egRo dks le>kb, Ablds egRo dks le>kb, A
Describe the tea-producing regions in india and explain their importance
of  Indian economy.

iz’u 21&iz’u 21&iz’u 21&iz’u 21& fHkykbZ esa yksgk&bLikr m|ksx dh LFkkiuk ds fy, vko';d dkjdksa dksfHkykbZ esa yksgk&bLikr m|ksx dh LFkkiuk ds fy, vko';d dkjdksa dksfHkykbZ esa yksgk&bLikr m|ksx dh LFkkiuk ds fy, vko';d dkjdksa dksfHkykbZ esa yksgk&bLikr m|ksx dh LFkkiuk ds fy, vko';d dkjdksa dks
fy[kdj foLrkj ls le>kb, Afy[kdj foLrkj ls le>kb, Afy[kdj foLrkj ls le>kb, Afy[kdj foLrkj ls le>kb, A
Write about the required factores for establishing Iron and Steel Indus-
try in Bhilai Explain in detail..

vFkok vFkok vFkok vFkok (OR)

NRrhlx<+ esa lhesaV m|ksxks a ds dsUnzhdj.k ds izeq[k dkj.kksa dk mYys[kNRrhlx<+ esa lhesaV m|ksxks a ds dsUnzhdj.k ds izeq[k dkj.kksa dk mYys[kNRrhlx<+ esa lhesaV m|ksxks a ds dsUnzhdj.k ds izeq[k dkj.kksa dk mYys[kNRrhlx<+ esa lhesaV m|ksxks a ds dsUnzhdj.k ds izeq[k dkj.kksa dk mYys[k
dhft, Adhft, Adhft, Adhft, A
Mention the main reasons of centralisation of Cement-Industry in
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chhattisgarh.

iz’u 22&iz’u 22&iz’u 22&iz’u 22& Hkkjr ds ekufp= esa fuEukafdr dks n'kkZb, %&Hkkjr ds ekufp= esa fuEukafdr dks n'kkZb, %&Hkkjr ds ekufp= esa fuEukafdr dks n'kkZb, %&Hkkjr ds ekufp= esa fuEukafdr dks n'kkZb, %&
¼1½¼1½¼1½¼1½ NksVk ukxiqj dk iBkjNksVk ukxiqj dk iBkjNksVk ukxiqj dk iBkjNksVk ukxiqj dk iBkj ¼2½¼2 ½¼2 ½¼2 ½ ueZnk unhueZnk unhueZnk unhueZnk unh
¼3½¼3½¼3½¼3½ eqEcbZ ls dksydkrk ok;q ekxZeqEcbZ ls dksydkrk ok;q ekxZeqEcbZ ls dksydkrk ok;q ekxZeqEcbZ ls dksydkrk ok;q ekxZ ¼4 ½¼4 ½¼4 ½¼4 ½ fpYdk >hyfpYdk >hyfpYdk >hyfpYdk >hy
¼5½¼5½¼5½¼5½ NRrhlx<+ dk pkaoy mRiknd {ks= ANRrhlx<+ dk pkaoy mRiknd {ks= ANRrhlx<+ dk pkaoy mRiknd {ks= ANRrhlx<+ dk pkaoy mRiknd {ks= A

Show the following in the map of India-
1. Chota Nagpur plateau 2. Narmada river
3. Mumbai to Kolkata airway 4. Chilka lake.
5. Rice producing areas of chhattisgarh.

vFkok vFkok vFkok vFkok (OR)

¼1½¼1½¼1½¼1½ egkunhegkunhegkunhegkunh ¼2½¼2 ½¼2 ½¼2 ½ vjkoyh ioZrvjkoyh ioZrvjkoyh ioZrvjkoyh ioZr
¼3½¼3½¼3½¼3½ dksjck dks;yk mRiknd {ks=dksjck dks;yk mRiknd {ks=dksjck dks;yk mRiknd {ks=dksjck dks;yk mRiknd {ks= ¼4½¼4 ½¼4 ½¼4 ½ dk.Myk cUnjxkgdk.Myk cUnjxkgdk.Myk cUnjxkgdk.Myk cUnjxkg
¼5½¼5½¼5½¼5½ Hkkjr esa U;wu o"kkZ dk {ks= AHkkjr esa U;wu o"kkZ dk {ks= AHkkjr esa U;wu o"kkZ dk {ks= AHkkjr esa U;wu o"kkZ dk {ks= A

1. Mahanadi 2. Aravali mountin
3. Coal producing area of Korba
4. Kandla port
5. Lowest rain fall area in  India.

--------X--------


